( 10~11% ] ZH| &

1 (Y2E]) 8, 15, 8, 15, 23, 5, 23
5
2424cm

313

4 5
4 9 5 91n
6., _27.,_27 1_27_ .13
6@37 2= 7 e S VR SV
2., 1_2 .2
7 5% 5715 15
13% 1 €D 2™ 7
1M4,2 @7.1,7
22 38 43
5 3 63 7 4
15% 1 €& =M 71

o T g5
ST 0Ty

9.2 4.5.9_,1
6 Tr 9T 2=5 =45

Speed Answers

13 . 4 4 13 _,1
7 =18 13-4 1 34
7 .16 _ . 7
8 17 17_7'16 16

( 16~17% l

2 €2 M EE 9

014,22 02 8,2, 4 03212
04 15, 3,5 05933 06 2
07 2 08 4 09 4

162 17 1%(:%) 18 %
wik(-3) @i
19% 1 2RI T

116, 16, 1% %( 5 )
FE RS
B8 oEe
7 16

63



21% 1 AN 7hH
14,5,10 2 3.5 15
32312 4 2.5 25
510+%:u0+ax9:18
3 __
6 977—(973)X7—21

( 22~23=z l

2 MG ES A5

42

35

5.3 | %] [18]
42 -

Lo o 7] B

3 . e e I/
asiascas el uren b

0 g g= g+ ag L ][15-

:+@=E= 1%

05 & -+ =202 —91+40=22
9 .3 36.15 2/ 12
o) Y-~ Y Y . - — =)—| =—
06 @) +3 =300 _36:15-22 ( :
a1l . 5 _33.20_ ,,.,,_,13(_33
07 @ 161248 48 57+ 20 120( 20>
f\i;izi;i: - A= l :l
08 @5 5= 10 6 16< 6>
/\i;l—ﬁ;i— ~N— i —E)
09@"14'21_42'42"15'4_34<_4
10 2.5, 10 11 4.7.21 12 3.5, 20
13 3.7, 21 14 7.8, 16 15 35
16 35 17 27 18 22

2 28t6-2

25% 1 RapA 7
1 e 7
1 3,15,114 29,27,120 325,29
5(_12 2 (_56
417("7) 5227( 27)
27% 1 AN 7
7 7
1 (1)8,8,18 () 3, 15,18
3 3
2 (1) 20, 28, 20, 20, 4, lz 217,17, IZ
2(_12 7(_25
325<_5> 429<_9>
2(_22 4(_9
545(_5> 6 15<_5>
28~29% 2 NIz HE
R NOREaN T
79 7 . 14 14

p—
==
o] ~
=

03 %+1%—%>< —Ho| 22
04 7:§§x

s g:ggx
wit-B) w3
wik-$)  wud(-
wsd=%)  nap(-3)
wsE(=2)  wal(Y)



wih(-8) el
-9 -
WA w8
msk(-4

( 30~33= ]

3 @D A sl

0155 02 4,2, 2

4**7 —— 2%

03 5

05 9
SEREMLIRE IR Ny
09 2. 5, 20 ©,0,©
1 3+2—§ i 3><
7 7
12 01g(=¢) @19:(=37)
13 o) CHEE 722 HHL0] A[AGHOF BLCY.
1
2.7 7.8 8 .3
TETETs s s
14 1%—8( %) 15 1470
( 34~36% l 4 GZD TH B0t
015 021052 035,20
8 . .2 7 9
04 = 7, lg 056 06%

Speed Answers

3.2 15.2 15
0834'7_4 "7 4

wo(=2)  wak(-2)
ni(=3)

14 ©

16 >< 17 3%(:3—2) kg

4.2 14.2_98 .10
18 A Ty T T35 7 35

19 1074

V1473 14

1.2 21.2_ 21
A
111 55 3

5 @L24 54 X o= 4 134



2 (1)7.59 (20.759

5104

7 (10.84 (2)0.61

43% 1 2P A

1 144, 6, 144, 144, 24
2 612, 6,612, 612, 102

45% 1 2PN 7E
1 318, 6,53;53 284,12, 77
3 484, 4,121;121 4 115, 5, 23; 23
5 399, 3,133;133 6 105,15,7;7

47% 1 2PN 7f
1 M5 13 213,13 31, 3, 15, 15
2 14 3 16 4L 17
5 17 6 13 7 17

( 48~49% I

01 168, 7, 168, 168, 24
02 824, 8, 824, 824, 103
03 7,51;51

05 448, 32,14 ; 14

2 MG ES A5

04 441,9,49:49
06 756, 21, 36 ; 36

4 - 2516-2

07 3,24, 3,8 08 7,28,7,4
09 8, 56,8, 7 10 7,49, 7,7
M 2,14, 2, 7 12 12
13 4 14 36
15 5 16 11
o1% 1 RapA T
1 (112,28 (228,28 () 2,8, 24, 96, 96
2 27 36 4 7
58 65 7 12
93% 1 eSS IR

1 (134,34 23, 4,69, 92,92
2 (172,72 27, 2,280,0, 80

333 4 5.2 5 6.7
55% 1 b I
1 (1) 56, 840, 56, 15 (2) 15,15 (3) 5, 56, 280
2 22 34 45
5 32 6 25

(56~57% ) 2 €2 NAE3 A%

01 308, 14, 308, 14, 22 02 161, 23, 161, 23, 7
03 43 04 28

05 (YIFE) 6.7, 6.7; 100 06 (RILE) 2.3, 2.3; 100
07 (YI5E) 1.8, 1.8; 10

08 (RI5E) 10; 3.4, 3.4; 10

09 6.5 10 3.4
11 3.6 12 1.7
13 360, 360, 45, 8 14 1000, 1000, 125, 8
15 5 16 50



59% 1 AN 7

1TMW1L7 208

2102 226 304

3 (1457 (2)1.53 (3)5.31
4 2.8, 2.83

61% 1 R T

6.7
0.5)3.35
30

( 68~70% ]

Speed Answers

13 10.4-+0.4=26; 2674

4 T BT

01 3,27,3,9
03 42, 420, 4200

10.3:;3,6, 0.3;3% 03L
205;2,805;2H 05L
35,5 03;3,15 0.3;3H 03L

(L62~632 ) 2 G W32

05 432, 6, 72,72

16 377+-0.29=

01 4 02 2 03 2.8
04 0.8 05 3.57 06 9.33
07 4 08 7.6 09 0.96
10 6.67 11 4,05 12 2,14
13 3,0.3 14 2, 1.7 15 5, 2.2
16 2,04 17 14, 0.3

( 64~67% I 3 Gz 23N 21517

02 84,756, 84,9

04 70, 700

06 100, 3.5, 3.5
09 6
12 8.1
15 1.85

29

700 37700--29=1300

17 ($15E) 90, 60, 30, 20

18 1.33

20 44X 0.7kg

L [1~9] Al BMIR.

17)15.3 9

0.8 @ 4.3
8.4 Z05)2.15
20

01 7.2+04= 1010 72+4=18

02 528, 528 ; 528, 528, 176, 176
03 (127,14 (2)525,15

04 756, 210, 3.6 05 W6 @17

06 6.78,11.3 07 >

08 (1)6 (2)50 09 12 (216 3156
10 <

11 103 @23,03;3, 03

0 15

(8} 12 ( 95 4.2
70.39)4.6 8 71.2)5.0 4
39 48

78 24
78 24
0 0

0.9 (3 } 273

5.3 70.03)8.19
6

0 21

5 21

153 9

S

8 15
| 0




ZH] 84
2 114

4 28.5cm

6 142 cm’

1 WM IHE

39

1 A Jh

2 8
4 97

1 w2 IHE

2
L []
2
|
2

( 82~83% |

2 ME U5 e

01 &% 02 3%l 03 107H
04 1174 05 774 06 874
07 107H 08 874
o9 & L g
|| | P e
RN
10 9 % E
1 BERE
. I L]
L L
n
12 = LI
oo
85% 1 il Y5 I I
1(O)(C ) 2 470
3(O)C ) 4 674
87% 1 GZD 22t 7hd




( 88~89= |

2 GED M55 6

01 774 02 674

03 87 04 87K

05 774 06 974

07 874

08 (1) 1270 B B

|

09 (187 @ o zl
|

10 O 1170 @ o .

11 W70 (2 o zl

91z 1 il 25 B S
1(O)C ) 2 67H, 374, 174
3 1074
4 9 o %
| L
HEN |
5 1274

Speed Answers

%®%

e,
.

WM IHE

1 €D

2 ED 3595
02 74

( 94~95% l

01 47H, 274, 174
03 (O)( )
04 'Sl ¢ ;i

05 67H 57H 174 77‘06 1274
07 (O)( )

08 4 % ]




96~99 3 GED J¥M 93]
01 >K 02 1074 03 974
04 (1) & g @ % e
| 7] ||
05 8 06 &
1
07 W1 @ 170 170 @) 374 @ 374 (5) 97H
08 >< J 09 2t
10 & 2%
] E[E
A 4
oF o
11 ot 12 91 . 9%
3]
2|
1]3]
0
o

4 Tl Bt

01 874 02 874
03 & e
B 1
04 A 05 ¥
1[1]1] 3[3]
2|1 2
31 [2]1
1 ?
o o
06 15 P
T T
.
? t
£l £l

?
Qr 25
08 34 09 17K, 174
10 27K, 174 11 874
12 ¢ o G
13 g 14 Bl
15 1 . 9% 16 e 874
S e
32
1(1
0
oﬁ]_
17 © 18 @ 19 @, ©
20
103% AAz A
1 874 2 874
3 % B
|
4L 9 5 9
(1] 3[1]
4/1] [1]2
12 |1
t t
& &
6 23 35
] L
_.L,;J,,,,J ‘,,,,,L,% ,,,,,,,
o oL




( 106~107= l ZH] 8F&

1468 2 2
3M3,5 @3,5
48,11;8,11;8,11;11, 8

510, 6 6 % 0.8
7 50 %

109% 1 il 28 I
1%% 2 (9I2EN3:9:3
3%% L (EE)7;8:7

( mMm= ] 1 €& 2244 714

1 (RIRE) 23510 2 (9I5E) 100; 11
3 (YEE) 35:5; 35 4 (HEE)8;6;8
5 (/5E)6:4:6 6 (YEE)10;8; 10

( 112~113%] 2 EZD H:

O
1Ral
ol
re
>

$|$E1)81 9
9l=E) 3

2IEE) 16, 32 ;4
QIHE]) 20 ; 260, 420
A=) 1

9= 3

(
(
3
(
(
(%

Speed Answers

13 €END0.2;72 — 07,2

14 8:5 154.7
16 5:6

115% 1 B3P T

1175 1 2P A

5 (Y5E) 15,4.5:9, 45
612,84, 6
7 27.216, 24



(118~119% l 2 €D Hdzz s

01 10, 30; 15, 20
02 6,110; 11, 60

03 7,25;5,35

04 12,13, 4

051,16;2,8

06 2,9, 14, 63 (£= 14, 63, 2, 9)
07 12, 15,4, 5 (=4, 5, 12, 15)
08 3,11,9,33(E(=09, 33,3, 11)
09 4,7,12, 21 (5= 12, 21,4, 7)
10 252, 252

1 4x2=8;8%x1=8
12 0.3x7=21;0.7x3=2.1

1 _
13 100><10 10;1x10=10

1 1
149><9 1; 11><11 1

15 25 16 28
17 6 18 5
19 4

( 121= ) 1 @ZD =220 7

12:30 2 2:30=@:150
3 10L L 3:8=A:72
5 27mL

1 WM IHE

3 S 112
15.6:3.¢.10 2,651,518

2 16:1 L e 5
35,1651 5.8 45,95, 143595 10

( 124~125% ]

2 G N3 Es s

:3=8:[112& 02 2:3=12:[] 18¢
:3=[1:9, 64 04 2:3=[]:27,18%
29=21:[]27& 06 7:9=56:[] 72%
29=[1:18,14% 08 7:9=[]:36, 28%

1 .., 2
09 1, 3,60,1, 3,120

3 18:5 5 2
10 5, 5. 18355, . 30

9 2
119, 574552 57 10

a4
12 9,200,4, 9,160

(=]
w
N NN DN

4 5002
13 4, - 800 ;. 600

8 g7 L
14 8,7, 1. 32005 8, 7, 7, 2800

(126~129= l

A7)

X

) (RIRE) 364 (2 (YIRE) 2510
04 7,9, 14,18 (== 14,18, 7, 9)
05 24,1204, 12; Z&Uciol O
06 (O)( )

(O)

R R R R AR A RN R AR

/\
W ey
12,6

4 16 3
08 4,3, -.16;3, 4,3, .12

09 1)12:7 (250:27

10 (115 @28 ()13

1M1 5:3

12 2:3000=6:[] 9000¥

13 10, 1500 ; 1—0 3500



130~132% 4 THl Tt
01 ©e, =g 02 (YURE) 9:4
03 (YIRE) 8811 04 (IE) 100 ; 41
05 ®

07 9:18=1:2(E=1:2=9:18)

08 Z&Licto O® 09 40:19
101:9 11 9,32;%,40
12 (YEE) 140, 20 ; 140 cm

13 16, 80, 10 14 88, 33

15 2 16 16

17 © 18 6:43

19 @b 1:3, @ 20:60

20 357K, 4974

( 133% ] AAZ BRATY
10 20O 30

L X 50 6 X

7 x 8 O 9 X

Speed Answers

( 136~137= ]

ZH 84
\_ ]

2 8cm, 4cm 3 35cm

4L 16 cm 5 25cm®

6 100 cm® 7 (1)0.048 (2)9.36

8 16 (214.125

( 139=% ]

B850l Sa|

1 WM T

4] A=
v L | L I I I |
f T T T T T T 1
1 2 3 4 5 6 7 8 9 10cm
=l
29 A5
e L | L } } L L } } |
0 1 2 3 4 5 6 7 8 9 10cm
Azt ol =2
¥ A&
I L o L L L i I |
f T T T T T T T T T 1
0 1 2 3 4 5 6 7 8 9 10cm

2 3,4

1 WM IHE

( 141= ]

1 HFE 2 31,314
3314 4 3.14
5 3.14



o B

142~143% 2emanzas (1512 ) 1 €D 234 7
01 & 02 & 1 (E) B vxE ; 9xe

@ 2 25434 cm’ 3 314 cm?
4 785cm’

03 O 04 O
05 x 06 3.1, 3.14
07 3,31 08 3.1, 3.14
09 3.14 10 3.14
11 3.14 12 3.14
13 8cm, 3.14 14 15cm, 3.14
15 12 cm, 3.14 16 10 cm, 3.14

( 145= | 1 WM TR ( 153z ] 1 i Y IR E
1 XIS 2 @ 1 432 cm’ 2 75cm’
3 24.8cm 4 34.1cm 3 357 cm® 4 99.2 cm?
9 6cm 6 12cm 5 248 cm® 6 124 cm’
147% 1 w1 2kM IHE
1 50 cm’ 2 100 cm’
3 50, 100 4 32,64

~ = = = A
(148~1492 ) 2 @ MEEE A ﬁ54~155§ S gl s
01 18.84cm 02 314cm
03 12.56 cm 04 15.7 cm 01 27cm’ 02 363 cm’
05 10cm 06 7cm 03 75cm’ 2 04 147 cm’® 2
07 4.5cm 08 3cm 05 254.34 czzm 06 50.24 cm 2
09 800, 1600 10 72, 144 07 314cm 2 08 113.04cm
11 200, 400 12 3271 09 223.2cm 10 49.6 cm?
13 607K 14 32. 60 11 83.7cm’ 12 147.5cm’
15 607H 16 887H 13 153 cm’ 14 64 cm’
17 60, 88 15 363 cm” 16 150 cm?

12 +3t6-2



( 156~159= ]

3 EZD Y3 2l5]7]

[= R B |

01 &3 02 (M x @20 ©E x
03 3.1, 3.14 04 25.12cm

05 20cm 06 88,132

07 <, >

08 24, 24, 288 ; 24, 24, 576

09 288, 576

0 xg uxig
(cm) (cm)

Hol ol EeQ Hol

5k Al (cm®)

8 4 4x4x31 49.6
26 13 13xX13X%x3.1 523.9
11 251.1 cm? 12 ©,0©,0,®

13 153.86 cm®

( 160~162% ]

4 Tl Bt

01 (RIZRH) E#F X

02 #x= 03 3

04 3.14 05 3.14

06 25.12cm 07 18.84cm
08 9 09 2cm

10 18, 36 11 45, 77
12 ($I15E) 6.28, 2 13 48 cm’
14 243 cm’ 15 27.9cm’
16 20 cm, 125.6 cm, 1256 cm”®

17 X2l 18 144 cm’
19 20, 10 20 86cm’

( 163% | EPN-R-I S
1 74.4, 446.4 2 55.8,251.1
3 16,2;195.3 4 265239

Speed Answers

Z) 81
3 o
4 DAfE[o] £
(7H)
6 10
L} 12 8 18
5 62.8cm 6 192 cm’

( 169=% ]

1T oE 2wis 2ol %

1 @D 22 7

27| 20| oFd A

712 7t L 2t Ct, ot

@

1 €D =22 7hid
1 X 2 x 30




07 6cm
09 8cm, 5cm

11 cm@

12 Cm -

08 7cm

10 6cm, 6cm

13

1 b Jh

30
66

1 b Jh

( 179= I

1 #20 O
3 HISo O

2 7ol O

1 X

( 180~181% |

2 €D 1333 6

01 7} ot

05 8cm, 10cm, 12cm 06 15cm, 17cm, 16 cm

07 4cm, 5cm, 6cm 08 5cm, 6 cm
09 7cm, 10 cm 10 6cm, 12cm
1M (O)(x) 12 6cm
13 4cm 14 5cm



Speed Answers

(182~185% I 3 EZD M 3] ((186~188% ) 4 €2 T Tt

01 7t 02 of
03 L, Ht 04 TH=
05

06 ® 07 2o EA
08 Fof Hix|2 09 ® ®
10 % 11 20cm
12 |= 13 Y
14 314cm 15 12cm
16 2cm
17 o) EBHO| ZIAIZIEH0| 0|7 | HRLLICH Lol Saf
o @Ho| 742 ol Zo|7} ChE 7| HEQILICH
2 1 ol Azt :
18 @
lemp | 0 )
07 cf
08 (s SN 2 oA 2 oA =
=0 =0 [=FY;
_(H
« O O O
g 19 QoM otoll A A0l A]
2oy 2oy 2oy
09 e QoflAl 2 QoM E FHollA| =

LU= ot Dot ot
_(')4
v
-
* % 20 (O)

%L/ (<)

(O)
10 @
: 189% AX A%}
Q 1 (QBSE) 2715, TINZH 9, 2, 6
11 22cm, 15¢cm 12 14cm, 14 cm 2 (MZRH) ¥ 2" 3/ 1,6,5
3 (ZRH) 7 o 72 34, 3



j 13% ¢ | @z an

EQ X|T J0|E e 1TM4,2 @7,1,7

Ol EHRI0IIAYS E47I2I0] LIEMIS SISEILICEL 2ot 22 22 38 43
molls EXtel LicMoR Mztst 4 Qld) 0] F2E & 5 3 63 7 4
Xigtso] LisAo] Lict,

2@y} O2 Z20ls S0 AWsls Rt 24l Lik
Mg 240 ZHOR LI Akl Hg 2F XI=s

1 BRI e ARgTlEe] R BAplee) U

ZM|R. 240 LEMOA] A ZBk= F[orEAR 7HE40] A 25y
HO AR LIERE 4 QT2 K|35 =ML,
HEaz et 4 R , A2 o,
575
L 2.4 5. yg
( 10~11§) ZH] 8H2 13713
- 5 g—é+%:21+7—3
1 (YEE) 8, 15, 8, 15, 23, 5, 23
9 .3 _qia_
2 4ﬂcm 6 10 10—9.3—3
20.5 .
12 T gt =20T5=4
3% 5
Ai 5 =m
9 9 - gi
= EZD L2t o
6638 r0=27 920, 1 27 )13 '

7 772 14 14

7
2.1_2 .2 7.3 . g e ) IO |
73515 18 s gl bl

Bt F s AAsTlY, BaE B A §+§=+== 12

10 3 . 1
ANCENTRN 33Ty 10 5 3= = 3y

753 14 5,9 5
2 612 28 624 2 424(cm)

1
2 ,4_5 14_14_,2
3 13><25—3><?_3_43 o ]
o ’ ? ? 7 3.4 13;4—£:3L
15 " 15 ) 4 4
716 o T
5 5io=Dolmzgyel el Tmeyeh S 17 17 0 16

16« +8t6-2



C_j ~15E 5 Lol o o
S = e by,
01 4,2, 2 02 8.2, 4 03212
04 15,3, 5 059 3 3 06 2 10 10 ° " * 4
07 2 08 4 09 4
8.7 8 .1
3 17 8-l _g-7=5_121
3.7 . 99 77
10 3 M s+5=3+7FF— ,
18 2+ 2=3:5="
5 o 5 8 8 5
19 3:Z23:9-3_191
] 77 2 12
9 .8 1
13 2.8 [glelgl===|12
105107 8 0o Lo B g T2
12712 72T 57 5
5
5.4 L) [ 1
14 9—'—— Y
5 19= 5@z 231 74
g é— - — — l -
15— 6]+5) 15
3 1/ 10
1 16, 16, > 2 1+ (=10
3 1/ 8 3 16 9\7 9
162 17 17<—7) 18 2
311 (=16) 4 1L(=1)
1/ 3 2/ 7 15\ 15 6\" 6
19 15(=3) 20 12(=1)
2\ 72 5\ 5
5 112 (=48) 6 11 (=18)
35\ 35 11\ 11
01 %% %ol 7o) T %% %o] ool 7 é—g
SToE 42sk PR
. , 1 322 Enk ot RS SR T RAIE
02 g“% _O] 87HO]J—’_ g—}f 30] 27HO]E§
., sy
oo 829 E YT 1.2 3 .16 _...._3
979 Ll 0 5. 96—
83 24 24 16
06 1%71%_8%:2
, 2.3_10.9 10_,1
6 3 375 15 15 9 9
, 2.3 1615 _16_ 1
16 . 4 A 5°8 40 40 15 15
08 o-=16+4=4 7
2.4 14.12 W 7 1
8.2 ., A R Tt Sty sl
09 [+ =8+2=4 377 21721 12 6 6
5.5 .. ; 6.5_483 .35 _48 .13
1096716 107573 % 7T8TE67 56 35 135



s 8.4 T2.44_ 77 _18_ 7
1179 99799 44 11 11
21 "4 84 84 63
21% ¢ | ez 2 7
14,5 10 23,5 15
323 12 4 2.5 25
5 10+%:(10+5)><9:18
69+%c49+$X7=21
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5 3 ,
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_+:: 1%
02 §_1_75 @_ @ _@_ 12
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5 33 .20 13/ 33
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